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Questions	
   Answer	
  
	
  
	
  	
  1)	
  	
  	
  	
  What	
  digit	
  is	
  in	
  the	
  ten	
  thousands	
  place	
  in	
  372	
  859?	
  
	
  

	
  
	
  
	
  	
  2)	
  	
  	
  	
  What	
  must	
  be	
  added	
  to	
  79	
  to	
  make	
  100?	
  
	
  

	
  
	
  
	
  	
  3)	
  	
  	
  	
  32	
  x	
  4	
  
	
  

	
  
	
  

	
  	
  4)	
  	
  	
   1
4
	
  of	
  32	
  

	
  

	
  

	
  
	
  	
  5)	
  	
  	
  	
  8	
  oranges	
  cost	
  $7.20.	
  How	
  much	
  each?	
  
	
  

	
  
	
  
	
  	
  6)	
  	
  	
  	
  $40	
  +	
  $30	
  +	
  $18	
  
	
  

	
  
	
  
	
  	
  	
  	
  7)	
  	
  	
  	
  If	
  50	
  cm	
  of	
  ribbon	
  cost	
  $1.50,	
  what	
  would	
  2	
  metres	
  of	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ribbon	
  cost?	
  
	
  

	
  

	
  
	
  	
  8)	
  	
  	
  	
  How	
  many	
  hours	
  from	
  7	
  a.m	
  to	
  4	
  p.m?	
  
	
  

	
  
	
  
	
  	
  9)	
  	
  	
  	
  I	
  bought	
  4	
  pens	
  at	
  $1.50	
  each.	
  What	
  is	
  the	
  change	
  from	
  $10?	
  
	
  

	
  
	
  
10)	
  	
  	
  	
  Simplify	
  5	
  +	
  3	
  x	
  4	
  
	
  

	
  

	
  


